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y = (—23e' + 10 sin(6t) + 60cosiot))/37
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t0=0 ; y0=1 ; // EAG

deff (“ydot=df (t,y)”, “ydot=y—-10%sin(6xt)”) //AHARBEXDEE ydot &lIdy/dtDZ &
ta=0;tb=3; tstep=0. 1 //BIEHt DR ta, BEth BLUR Ty T tstep
t=ta:tstep:tb; // 0 EE

y=ode (y0 , t0 , t , df ) // &
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F=mopen ("dfe. txt”, “w”);
mfprintf (F, “%5. 2f %5.3f¥n", t",y");
mclose (F) ;
£72 (t,y) mHICT a2y T BT
plot2d(t,y,2);
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X1 y=y’ —10sin(6t) Of#
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x'= —10x + 10y x(0) =1
y'= 28x—y—xz y(0) =0
z'= —8/3z +xy z(0)=10

Scilab TiX 3 £ x,y,z X7 MLt LTELEDHTLE I,
T 72 b x=x(1),y=x(2),z=x(3),
oW HFRAEROBABETERT 5., xdot(DIiE dx(D)/dt=x'2F L T\ 5, .
function xdot=func (t, x)
xdot (1) =10% (x (2) —x (1)) ;
xdot (2) =28*x (1) —x (2) —x (1) *x (3) ;
xdot (3) =—8/3*x (3) +x (1) *x (2) ;



endfunction
MSTZEH 1
ta=0; tstep=0. 02;tb=80;1t0=0
t=ta:tstep:tb;
xx=ode ([1;0;0], t0, t, func);
[ 1o 3 #iE x(1), x(2), x@)DHHIE (t=t0 D & & D),
f Rl xx (X 3 AT mANOITAINCINO b D, T2 midt2 025 80 £ T 0.02 %7
72D T m=4001, TDOH 117 xx(1,)T xE 5247 xx@,)NT yE 5 317 xx(8,)1% z
ETH5D,

t & xx %7 740 lortxt ICEXHTITIX
F=mopen (“lor. txt”, 'w ),
mfprintf (F, “%5. 1f %10.3f %10.3f %10.3f¥n", t', xx(1, )", xx(2, )", xx(3, )");

mclose (F) ;

Foxyz 37wy T 5ITIE param3d 5,
clfQ;

xset (color’,5);//HKBT

param3d (xx (1, 1), xx (2, 1), xx (3, 1), 95,80, XeY0Z ), //x vy z

xtitle("Lorenz Equation”);
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ROWG HFRENIT a, b, c [EODTINRIBEBVWTHRNRKRELS R L0 TH D, a DEAEZE
RO T TEABREIRESE>TL 5,

dx/dt=-y-z x(0)=1

dy/dt=x+ay y(0)=0

dz/dt=Db-cz+xz z(0)=0
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a=0.07 b=2.0 ¢=10.0 a=0.42 b=2.0 ¢=10.0
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Fo 2O TR ZEN 1RO FRNICER L TCZOHFETHS ZENTED,
y'+tay'+by=F(t,y,y) #I#EMH y0)=y0 y'(0)=v0 %
y'=v &B< L& v'=-av-by+F(t,y,y)
IHIZ, yox2, voxl [JEXHZ D L,
x1'=-a*x1-b*x2+F(t,x2,x1)
x2'=x1 Tbh b,
ZZCFORBIEE ab Dfix 52 TZ O HBRXELEEICT D

function xdot=func (t, x)
xdot (1) =—a*x (1) -b*x (2) +F;
xdot (2)=x(1);

endfunction

xx=0de([v0;y0],0,t,func) DFE 1 TN y & FE 27Ny 2525,
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[1] http://www.scilab.org/download/

[2] http://www. kcg. ac. jp/kcg/sakka/math/num/scilab/index. htm



